
Eel &
,

AB ,
c }

( = sequence of elements of E
,

else empty

& on be a quote to say
that the next cheater

must be interpreted as ecouuad
,

man the

next character is & itself ,
which means that

the ohaectn to twmlehe is &

e-
8

- &&8A&&

Ban
& Cmdtt ) & B

.==- -
-

& Gmdca )

2) give
a green won for the language

fire on

2) SDT suitable for Top-DOWN pussy that

Geaeetes as attribute of the initial symbol of

the ground the sequence
in which the & quota ore

brewed .

A grammar
Uk ) for the Caeyuge

S .

vee

s → LS K I 's

L→&l AIBI C K L 's

&
'

a
&& A A {



§ s
L

s
1

1 / A
& A 's

fuel synth

5. fly inherited words if
9

before
"

it was

seen an &

L.veesg.nl#

s '→ S { S
. fly = false ; }

s→ LS
,

{ If ( S
.flag ) then

S → E if ( Lvd =

'

&
'

)

L → & then [

safety'&µdavd
else 5. vd =

'

and ( Lud )
'

. Szud
L→ A else 11

behemoths.flg= false

L→ B if ( Lvdf 'S
'

)
thus .ud= L .

vee . £ .ve

( → C [ sz . fly = false
else 5. uel = Sz . Vol

[ . fly = fun



:
feg - false

€#.fly=tue
1 S .vd=

&

YEE←off
8 {

$
. feepfelu

} flag . flu

( \
s . feegifebe#(

'lspg.tw
MDA@

, i &
At

E
GCA )



S
'

→ s
SID

£fGg= f else ; 5. rd= 5. vd

S → L S
, sz . flg = ( ! 5. fly ^ L .vd= '

&
' )

;

5. vd= if ( 5. fag ) then

if ( level .

'

&
'

) then

' &
'

. Sandelse
'fmd(L.veej.sz.vehematite
's

.ee
else Szvee ;

5 → e 5. vel = if ( S
. fly ) then ' &

'

else ' '

;

L → & L .vd=
'

&
'

Las A Kwl= 1

A '

LM B L
.

ud ,

' B'

be a ( L vd =

'

C
'

The SDD is L - dtubuted

The dented STD pen #bh Top-Down is :



5
'

→ { S
. fig = false

,
} 5 $!ud= save )

S → L { Sz . feg = ( ! 5. fegn L.ve .

'

&
'

) ;
}

Ss { S .vd= if. .  -

; }

S → e { S .vd= rf( 5. fly ) then
'

d else
"

; }

L → & { 1. we .
.

'

& 't*
-

3) Give an SDT that could
parable Botton - up

.

← We can change the
peuwer ,

that new needs to he LRCE)
,

and define an associated S -
attributed SDD

s
'

→ 5 s fly

S → S L / { ,

free
: H

S . heL .
nd

L→ AIBICI & 1
its - &

S
.

. }L.ua.

Y \kitbagA&

s L

, \ n

A S
S Fy=fw

(
1 \

/ \ \& S L
s vd=&

L
,

\ &
, for.

the \&
\

(Sue
" L S *

iflgfese
\

&
/ \L

e { is



SDD :

then

s
'

→ 5 5 !vd= ifcsfq ) T.ve. '

&
'

else Sud

S → Sal S .vd=ifCs± . fly )
then .if ( L .vd= 's ')

then Szvd .
' &

'

else Sard . 'Cmd(Lindt

else if ( C. rd >

'

&
' )

then Save

else Sz
.

vd . t.ve .

S .fg=(! Safeg ^ L .ud=
'
&

' )
;

Sue S
.

vd=
' '

; 5. fly .

. false;

Las & Lvd .

'
8

'

FEEDSuch on SDT can be

Line L.ve "i='c ' iabfe.mg?glpdpnnnjnfyW

The SPD is S - attributed and the
premium is

LRCL) .

Thus
,

The conespaob STD is the SDD

in which eel the actions are fifteenthright side *



EX Consider the languageof the forests of Gbeebed

trees represented as parent he sized lists of trees separated
by commas .

Every the that is met just a leaf in represented by
a pair of elements

, separated by comma and enclosed

in queue
brackets

.

The first of these elements is the

label of the reef and the second is the forest of the

trees that are the chicken of the root .

Let [ = { AIB ,
C

, Die } the alphabet of the labels
.

A D
/ \

B g ftp.T
D

( [ A
,

( B
,

E
,CDDD ,

[ D) ( A
, E. B

,CD
2) Give e froman for the layuefe
2) She en attributed grammer suitable for Top . Dow Perry

that acailetes for each non . terminal mode in the pure the
,

the syntax thee derived from thetmede usrmg the

following operations :

2) HKT : Label x List C Tree ) → Tree

2) HKE :  was List ( Tue ) ( aeetcs the empty list )

3) Add : Tue × List C Tue) → List ( Free )



@
as ( TF £ forest The frowner is LLC 2)

F→
,

T F F. forest ( to pbu for exercise )

e → , F. .
9

it'tgp
;

TO→
[ ↳ s ] Flue

[ It
,
}}

TO→ L T.hu
a /|\ Daw

L→ AIBKIDIE
1 ( T F ↳ the

Leas µ / Mp
"
Yue

:'
[

%µ}
. treeAddl T.tn

,
HKE )f@ppkkTDktyg.t

'm
,

L )

I

D



L → Al .  . -  . I E L
.

eek
'

A
'

1
. - /

'

E
'

T → L T.tiae-HKTCL.be
,

HKEC ) ) ;

T → [ L
,

S ] T.tn = HKT ( Lees
,

5. forest ) ;

F → ) F. feast  

= HKEC )
,

F →
,

T FzF. forest = Add ( T.tn
,

E. forest);

s → ( T F 5. forest  
= Add ( T.tn

,
F.forest

G) Give an attribute gunmen suitable for Top-Down Pang

that ceeaeeetes as on eltubute of the start symbol

the depth of the forest
, that is the maximum height

of all the trees in the feast

S
,

F
,

T attribute depth Synthesized

L → At -  ' IE

T → L T . depth = A ;

T → [ L
,

s ] T . depths I depth +1
,

.

F  → ) F.

detbth
= - 1 ;

F →
, TFZFr

depth
= mex ( T . depth ,

E. depth )
,

S→ ( T F S
.

depth a mex ( T . depth ,
F. depth ) ;


